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Secondary Math 3 : :
Find the next 3 terms in the patterns and fill out all other information.
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Valielt 204 |8 | 16 {22 0 \2%
Initial Value: i

Recursive: £(0)72, Eny:= 7- £ (n ) Explicit: £fin)= 2 >
What is the value at term 8? S\

Common Factor: 2-

Term 0 1 D 3
Value )il [25% (162

Initial Value: Common Factor:

Recursive: Explicit:

What is the value at term 10?

Term, S Rag [ 0 { R
Value | 4 | 16 | 64 | 256 |jo2-t | 4090] iw38H
. Initial Value: 25

Recursive: £(0)= 256 L fln\=
What is the value at term 8? | o
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Determine the 15" term in each sequence
- —, 1, 5, 29,... £ 9.27. 8l.
0. ) i
Determine how many terms there are in the following sequences
8.\ 4374, 1458, 486,.., 18 9 4516 4096
10. During the fall of 2012 there was an outbreak of a new strand of flu in the United States. In the first week there
veek 81 cases, and third week 243.

were 27 cases, second ¥
an explicit equation to represent the growth of this flu strand.

¢ M+ i
1 Write

How many cases of the flu will be present after 6 weeks?
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